o(d dxy) (cm)

........................................................................

1072

Ratio

10

o(d dz) (cm)

102* ----- [ """ TL:L+IJ¢J~TJ{+

CRey: ik SANNNEAE A E b WR
0.9t

—=— DOM _mKFit_TTbase

—— DOQM_mkFit_TT_baseline_6iter

—e— DQM_mkFit5_TT_retrainOldFiles125_v
—+— DQM_mkFit6_TT retrainOldFiles125 v

2 _prelimWP_epoch4

2_prelimWP_epoch4

..........................................................................

.........................................................................

.........................................................................

.........................................................................

1 2 3
TP ® (PCA to beamline)

o p_/p.)

1. U7, <
Foxnll I B 4 bt B o8 O O el N B DN N s
L po 1 - | b
+ - HEESEAS
T - d 4 4 + he
- =k - s -
i o b
=0 | .
d : -
i i il ae

........................................................................

1 2 3
TP ® (PCA to beamline)




	Contents
	Page 1


